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5. Invariant Hyperbola

On the left are two events A and B in the lab frame. On the right are 5 possible positions for Bin the

rocket frame. On both plots, each grid spacing in the horizontal direction represents one light-year, and
each grid spacing in the vertical direction represents one year.
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On the right hand plot, sketch the invariant hyperbola of possible positions for event B relative to event
nvariant 2 might help you

A. It will go through only one of the events B, to Bs. HINT: Computing the i

draw an accurate hyperbola.
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